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1. Questiong, (-

1)Which is the correct assignment of chirality at C1 and C4 of the following molecule?

H . 0 _H
@ =
A) 1S, 4R B) 15,48
C) IR, 4S D)IR, 45
A bR
c.C d.D

2. Question 5
2)The half-chair conformation of cyclopentane has a ~—-——of symmietry..

A) C; center B) C;axis
C) Czplane D) Cz point

A hB
c.C d.D
3. Question :

3)Biphenyls are chiral not due to the presence of a stereocenter

. A) stercoaxis B) asymmetric carbon
C) chiral carbon D) none of above

N o
e.C d.D
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8)Which is the numetmmmt of chirality at C2 and C4 of the following molecule?

2™H
4

A) 25,48 B) 28,4R
C)2RAR D)2R,4S

LA

;.o‘.

9)The states that a bridged bicyclic compound cannot have a double bond at a
bridgehead position unless one of the rings contains atleast eight carbon atoms,

b. B
d.D

A) I-Strain B) Bredt’s rule
C)Octantrule D) axial rule

20> .

:‘%’ iv

10, Question

-10) The replacement of both double bonds in an allene by ring systems gives a

A) biphenyls B) cumulated double bonds

C) spiran D) chiral center
A b.B
cﬁ 4.D
L Question |

I1)In cis and trans decalin which form of decalin is more stable?

A) cis B) trans

C) bothaand b D) none of abave
.A bR
.G d.D
2, Question
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